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General Instructions :

(i)  This question paper contains three parts A, B and C.

(ii) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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PART - A

(ATEER WA qoT Hrarrl & o dais)

(Accounting for Partnership Firms and Companies)

. ‘UF WERER & e | 94 s § o 1

What is meant by ‘Reconstitution of a Partnership Firm’ ?
2., o e S TR ¥ A 5, 2 < g o e | oy ke
H Wartee BT & At 9T WEERI % A S F e $ | 1

X, Y and Z are partners sharing profits in the ratio of %, '52' and '1'% Find the new ratio of

remaining partners if Z retires.

3. TR B AR HH ¥ MR W OARER F GO 997 TR % ey § st
T | 1

Distinguish between ‘Dissolution of Partnership’ and ‘Dissolution of Partnership
Firm’ on the basis of closure of books.

4. HAHFH / G WRIKR % SERIVERT o @) @t o fra v ¥ sfvsr w4t e & 0 1
Why heirs of a retiring / deceased partner are entitled to a share of goodwill of the
firm ?

5. ‘HO9T W Y TG | 1

Give the meaning of ‘Debenture’.

6. &1 A qU 3w i 7% i fvw sfusmaw it 9 q: Pt fear o gear £ 0 1

What is the maximum amount of discount at which forfeited shares can be re-issued ?

7. SiE U% 39 aRC o fr Rty s & w9 F e e @ 39ahT R
W%I 1

Give any one purpose for which the amount received as ‘Securities Premium’ may be
utilised.
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T Ue gite U T § WIEKR & 997 7 ; 3 % SR | Nl 1 Sear & T8 4 | 3OS
HHY: T 2,00,000 997 T 1,50,000 < 1 1 30, 2013 aﬁaﬁﬁaﬁ%ﬁwﬁwﬁﬁ%ﬂm%

foTr e HU WIEER % w9 § vaw fear | erfia T1,00,000 G5 % w0 H @R | BH # @
1 oA ST oo AR F 7&9 W IWa Al o [olg Saeds JoHmar wiafear
FHIT | |

Saloni and Shrishti were partners in a firm sharing profits in the ratio of 7 : 3. Their
capitals were T 2,00,000 and ¥ 1,50,000 respectively. They admitted Aditi on 1* April,

2013 as a new partner for %“‘ share in future profits. Aditi brought ¥ 1,00,000 as her

capital. Calculate the value of goodwill of the firm and record necessary journal
entries for the above transaction on Aditi’s admission.

a5, At A 1 aniet, 2012 &1 T 100 ¥8% & 2,000, 12% FOT9A 1 9= o | e
W 9 @ figr gen | ol ot et & SR HOTOE WSS SHanu® YR W30
e don 31 W Wt 2 gar & a9 A W ST B FaAd 10% T

31 HIE, 2013 H AT &1 dfot e & fow s o i 9% o ) aifves sr
& A-2T foaRor § TR & ot Savas AT Hiarear Hiaw |

BG. Ltd. issued 2,000, 12% debentures of ¥ 100 each on 1¥ April 2012. The issue was

fully subscribed. According to the terms of issue, interest on the debentures is payable
haif-yearly on 30" September and 31* March and the tax deducted at source is 10%.

Pass necessary journal entries related to the debenture interest for the half-yearly
ending 31% March, 2013 and transfer of interest on debentures of the year to the
Statement of Profit & Loss.

frefefaa aiffag & smavas Geamen ufafted it .
(i) wefafmE T 100 7&s F 1500, 12% Fomg=i, T Fins 6% 8 9 fean & o,

T 9T % T 100 WF & 9qar 39 o uRatdaa e fear | guar 339 #t T 25 uid
3731 % atfyemy 77 Frifaa fear mar ar |

(i) we fEiREd 2 100 =% % 1,000, 12% Forgat, ’eer e 3 10 Wi R0 & 9%

q¥ T T or, @ e 3% T 100 W & GHar 39 o T 90 Wi i vew 9,
ufrafaa wte fear |

Pass necessary journal entries in the following cases :

(i)  Z Ltd redeemed 1500, 12% debentures of ¥ 100 each issued at a discount of 6%
by converting them into equity shares of ¥ 100 each issued at a premium of X 25
per share.

(ii) X Ltd. converted 1,000, 12% debentures of ¥ 100 each issued at a discount of
T 10 per debenture into equity shares of ¥ 100 each, X 90 paid up.

3 {P.T.O.
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(ii) W,Wﬁmwﬁﬁz:z:l%@ﬁﬁwﬁwﬁwnﬁl
(iii) %ﬁws%aﬁmwﬁmﬁmm |
TSit Bt HH % HRT 30 Ry 2012 H G 7 T 50,000 79T 1 SR, 2013 W P A

X 20,000 =t i Gt ovg | 31 At 2013 I A B oot a9 & fAT B 1 e
¥ 3,37,800 o1 |

(3) TR HIE e TEiNG i ok T B i e e
(&) 319, 2013 #mﬁ#aﬁaﬁ%ﬁm*w-aﬁﬁﬁﬁmm’ﬁmaﬁﬁq |

Satnam and Qureshi after doing their MBA decided to start a partnership firm to

manufacture ISI marked electronic goods for economically weaker section of the

society. Satnam also expressed his willingness to admit Juliee as a partner without

capital who is specially abled but a very creative and intelligent friend of him. Qureshi

agreed to this. They formed a partnership on 1* April 2012 on the following terms :

(1)  Satnam will contribute # 4,00,000 and Qureshi wili contribute ¥ 2,00,000 as
capitals.

(i)  Satnam, Qureshi and Juliee will share profits in the ratio of 2: 2 : 1.

(ii) Interest on capital will be allowed @ 6% p.a.

Due to shortage of capital Satnam contributed ? 50,000 on 30™ September, 2012 and

Qureshi contributed ¥ 20,000 on 1* January, 2013 as additional capitals. The profit of

the firm for the year ended 31* March, 2013 was 2 3,37,800.

(a) Identify any two values which the firm wants to communicate to the society.

(b) Prepare Profit & Loss Appropriation Account for the year ending 31* March,
2013.

&R, fawrs o T v e o wrEew o Aer 5:3:2% 3 | At &Y fawfig w5y
® 431, 2013 Wt 57T Fearfer- fyamor Rrefitfiaa o -

31 W, 2013 ® e férore wat Tt @t ferfiy oy

T ' qaq 2,00,000
e 3,00,000 I 3,00,000
faeTe 2,50,000 qeT 1,10,000
T 1.50,000 | 7.00,000 | @1 1,00,000
9T HiY 60,000 | 3_R 80,000
TR 1,10,000 | O 80,000
8,70,000 8,70,000




| 3TEEY, 2013 F FRE &) G & T | Y WERRT SR Ik IAAESR F g WAl €%
fo

(a0 o B e o e frwet o At % s o 3 25 7 % & R A

3 = T 1,50,000 97 |
@) Yol 9 10% A T | =711 fear e |

@) o 2013-14 F o H iSet a¥ ®f W F FER ARG 7F S 5w T 1,50,000
o |

| STERER, 2013 T foRE & STOMMHRY i TRqd fhT S aer forg &1 Yoft @ ar ST |

Virad, Vishad and Roma were partners in a firm sharing profits in the ratio of 5 : 3 : 2
respectively. On March 31, 2013, their Balance Sheet was as under :
Balance Sheet of Virad, Vishad and Roma as on March 31, 2013

Liabilities A'“;’““t Assets A‘“g““t
Capitals : Buildings 2,00,000
Virad 3,00,000 Machinery 3,00,000
Vishad 2,50,000 Patents 1,10,000
Roma 1,50,000 | 7,00,000 | Stock 1,00,000
Reserve Fund 60,000 | Debtors 80,000
Creditors 1,10,000 | Cash 80,000
8,70,000 8,70,000

Virad died on October 1, 2013. It was agreed between his executors and the remaining

partner’s that :

]
(a) Goodwill of the firm be valued at 22 years purchase of average profits for the

last three years. The average profits were < 1,50,000.
(b) Interest on capital be provided at 10% p.a.
(c) Profit for the year 2013-14 be taken as having accrued at the same rate as that of
the previous year which was ¥ 1,50,000.
Prepare Virad’s Capital Account to be presented to his Executors as on October 1,
2013.

13. 1 3, 2012 # 2 1,00,00,000 i ha Goit & q fode fatwes & Fmio fear mar =i
Z 50 T=F ¥ 2.00.000 Gar 79 o fanfaa 4 | A 2 1,80,000 39N & feT AierEoT

foifie w¢ seTo ety fee | FemR R yER 9 ST O 4
3R W . 15
A W . %20
e U S L i)

i T ot e g Bl R & wlt it st @ Seen w i | ad % R

ST = reET TR S AP )

frfoTiae gemee

() A afufTam, 1956 # aReifE GRON-VI ST ¥ AR FHA & feafa faewor 9
‘ST qSAr |

@ ¥ o e ¥ A W R
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On 1% April, 2012 Vivek Ltd. was formed with an authorized capital of ¥ 1,00,00,000
divided into 2,00,000 equity shares of ¥ 50 each. The company issued prospectus
inviting applications for 1,80,000 shares. The issue price was payable as under :

On Application : ¥ 15
On Allotment ) % 20
On Call : Balance amount

The issue was fully subscribed and the company allotted shares to all the applicants.
The company did not make the call during the year.

Show the following :

(@)  Share capital in the Balance Sheet of the company as per revised Schedule-VI -
Part-I of the Companies Act, 1956.

(b)  Also prepare ‘Notes to Accounts’ for the same.

14, W%ﬁé@ﬁwﬁﬁﬁwﬁﬁﬁmwﬂmnﬁﬁﬁ%& 4

(37) T fatheE 3 $a7 fofie & T 7,20,000 =t =% =7 w57 | F5 s =i
%loom%mdﬁﬁlo%%aﬁwmﬁmwmwa

T U WA ¥ 90,000; W& T 90,000 fafe e 2 30,000; ¥ T 50,000:
s T 20,000; fafay SR 2 20,000 |

Pass necessary journal entries for the following transactions in the books of Rajan Ltd :

(a) Rajan Ltd. purchased machinery of ¥ 7,20,000 from Kundan Ltd. The payment
was made to Kundan Ltd. by issue of equity shares of ¥ 100 each at 10%
discount.

(b) Rajan Ltd. purchased a running business from Vikas Ltd. for a sum of ¥ 2,50.000
payable as ¥ 2,20,000 in fully paid equity shares of ¥ 10 each and balance by a
bank draft. The assets and liabilities consisted of the following :

Plant & Machinery ¥ 90,000: Building % 90,000; Sundry Debtors 2 30,000;
Stock ¥ 50,000; Cash 7 20,000: Sundry Creditors ¥ 20,000.

15, A, dra aan T v F weer o st s 99 w6t 13 5:3:2 % 3Fura | ol
AT F R L | 1 AT, 2012 F S TSI ST ¥ 2,00,000; ¥ 3,00,000 e
Z 6,00,000 <t | STEH & 9 3H F a5 W WERRT 3 ST w9 |/ 912 dfeat 5
TEAAT A 7 ot feqar |

mﬁ?ﬂ%m%aﬁmmwn&aw%aﬁwﬁmmmlaﬁnaﬁﬁwm
& F% Y& U1 T o SR 9T s @ e T | SEIYTF HHEEH waite Hifae qoar
w&ﬁmﬁﬁmm@wﬁﬂ | U 3 gt w0 ot SooiE ST S A ERR WHN
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Naveen, Seerat and Hina were partners in a firm manufacturing blankets. They were
sharing profits in the ratio of 5 : 3 : 2. Their capitals on 1% April, 2012 were

% 2,00,000; < 3,00,000 and < 6,00,000 respectively. After the floods in Uttaranchal, all
partners decided to help the flood victims personally.

For this Naveen withdrew ¥ 10,000 from the firm on 1% September, 2012. Seerat,
instead of withdrawing cash from the firm took blankets amounting to ¥ 12,000 from
the firm and distributed to the flood victims. On the other hand, Hina withdrew
¥ 2,00,000 from her capital on 1% January, 2013 and set up a centre to provide medical
facilities 1n the flood affected area.

The partnership deed provides for charging interest on drawings @ 6% p.a. After the
Final Accounts were prepared, it was discovered that interest on drawings had not
been charged. Give the necessary adjusting journal entry and show the working notes
clearly. Also state any two values that the partners wanted to communicate to the
society.

16. mﬁraﬁwwwﬁ%a@mﬁw4n%aﬁmﬁma‘hﬁﬁ | 31 9T, 2013 9

I et faeror =1 v a1 6
31 |, 2013 i i 4T Gt W1 Rty faavor
ARR 45,000 | s 55,000
FHaRt affayfa Ffy 40,000 | 3BR 60,000
T T 1] @ 65,000 | = : 85,000
ot - LE I 1,00,000
wfe 2,00,000 | HRIA 1,30,000
e 1,00,000 | ¥Ti=<T 1 le] @I 20,000
4,50,000 4,50,000
I fafer =6t e <1 wETes B T

(1) = 3 i T 40% 9T 39 &b 90 ¥ 10% 7 7ed W A oran qon 9 €ie &l
% 40,000 # s f&ar w4 | wEER 9 T 80,000 WS §T |

2) e fafgi = forgen eran gt | @1 TR mar ar 20,000 ® 9 oy w1 e
i T 60,000 T I 9T =1 74T | |

(3) =R ¥ T 55,000 Ve T |
(4) WO 1 U foet 31gT o1 e fow T 19,000 T Jra= & f&ar mar |

FYA! QAT IR HHT |
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Shanti and Satya were partners in a firm sharing profits in the ratio of 4 : 1.

On 31% March, 2013 their Balance Sheet was as follows :
Balance Sheet of Shanti and Satya as on 31 March, 2013

Amount

On the above date the firm was dissolved :

(1)

Liabilities - Assets A‘“;““‘
Creditors 45,000 | Bank 55,000
Workmen Compensation Debtors 60,000
Fund 40,000 | Stock 85,000
Satya’s Current Account 65,000 | Furniture 1,00,000
Capital’s : Machinery 1,30,000

Shanti 2,00,000 | Shanti’s Current Account 20,000
Satya 1,00,000
4,50,000 ) 4,50,600

Shanti took over 40% of the stock at 10% less than its book value and the

remaining stock was sold for ¥ 40,000. Furniture realized ¥ 80,000

(2)
of ¥ 60,000.

(3)
(4)

Debtors realized ¥ 55,000.
There was an outstanding bill for repairs for which ¥ 19,000 were paid.

An unrecorded investment was sold for ¥ 20,000. Machinery was sold at a loss

Prepare Realisation Account.

17. WiE a9 e U H | WIHRR & St e B 3 ;2 % ue | ot e & 1 1 3,
2012 & AT B IBH TF RN F 7 & & ¥ yaw fgar | 36 fafw =6t oigq qar mewr =
Tt faeor fRerEr or
1 3, 2012 aﬁn‘lﬁwnﬁwmﬁaﬁrm
- it . ’ﬁr Tt
4 ¢
TR 2,10,000 | e UFg 1,40,000
FHHAR! &iaafa [y 2,50,000 | TR 1,60,000
O 9 1,60,000 | €% 1,20,000
ISt ; LRC e 1,00,000
e 1,00,000 qa 2,80,000
0w 80,000 | 1,80,000
8,00,000 8,00,000
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9% o ga1 o
(1)

(i) = aifagfa ff @ e € 2,30,000 fafvaa far mar |
(ili) O 37t @@ & W ¥ o T 1,00,000 T @ |
(iv) ST THTAiHT T THESH ® # ¥ v T B G g e i o b

%mﬁiﬁﬁﬁq&mﬁﬁwﬁ%m%%wﬁml
(V) ﬂﬁw-ﬁwmﬁmmm:ﬁm%ﬁw,m%ﬁmww%ﬁmn

TP W, WERRT % it @ e 1€ o 1 feaf foramor e sfre | e gwr o
TS Tt &t O ot T w Y R giE |

AGAT

R, FHR TAT Hioal UH FH H G S N ot & 3: 1 - 1 & 37T | feoranfora et & o
1 3T, 2012 1 e feafe fyamor frey s o -

1-4-2012 1 HIA, FHR AAT FHferen w1 Fearfer Rrawor

Ho T R 1 e d 3 T 3,80,000 71 ¥ 1,60,000 6 @A AT |

TR 1,20,000 | TFE 70,000
37 foer 1,80,000 | FT&R 2,00,000
A= |9 1,20,000 | 2T ; urae— 10,000 | 1,90,000
gSif wE 2,20,000
FIA 3,00,000 FHTER 1,20,000
FHR 2,80,000 o 3,00,000
il 3.00.000 | 8,80,000 | ¥ 400,000
13,00,0600 13,00,000
SRR fofr it wfae 3 sraerT wew o e ey ot fre m - |
() FH B T e T 40,000 fEm |

(ii) iﬁ?wq@m%mmﬁmwmwﬁmmﬂﬁqﬁmmm|
(i) AR % 957 7 T 20,000 Y FH B @AW |
(iv) o0 ROT /99 %l T 15,000 T I2191 ST |
(V) WA @ A H 10% T W B S a9 9w i S5 w5 @l §

AN ¢ & SO |
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(Vi) ¥ T FAR ! IS I T T ST F AT 1 ARy I Ol F i anfue
/ SHT & T W AR wle] @t 3 ey & R s |

T G, WHART 3 §oft @ 7ar ST 3 ST 7 w6

1 feafa faeror Sar st |
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Mohan and Mahesh were partners in a firm sharing profits in the ratio of 3 : 2. On
1% April, 2012 they admitted Nusrat as a partner in the firm. The Balance Sheet of

Mohan and Mahesh on that date was as under :
Balance Sheet of Mohan and Mahesh as on 1* April, 2012

Liabilities A"‘;’““‘ Assets A“';““t
Creditors 2,10,000 | Cash in hand 1,40,000
Workmen’s Compensation Debtors 1,60,000
Fund 2,50,000 | Stock 1,20,000
General Reserve 1,60,000 | Machinery 1,00,000
Capitals : Building 2,80,000

Mohan 1,00,000
Mahesh 80,000 | 1,80,000
X 8,00,000 8,00,000

It was agreed that :

(i) The value of Building and Stock be appreciated to ¥ 3,80,000 and X 1,60,000
respectively.

(ii) The liabilities of workmen’s compensation fund was determined at X 2,30,000.

(iii) Nusrat brought in her share of goodwill ¥ 1,00,000 in cash.

(iv) Nusrat was to bring further cash as would make her capital equal to 20% of the
combined capital of Mohan and Mahesh after above revaluation and adjustments
are carried out.

(v) The future profit sharing ratio will be Mohan %‘h, Mahesh %“h, Nusrat %th.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm. Also show clearly the calculation of Capital brought by Nusrat.

OR

Kushal, Kumar and Kavita were partners in a firm sharing profits in the ratioof 3 : 1 : 1.
On 1* April, 2012 their Balance Sheet was as follows :

Balance Sheet of Kushal, Kumar and Kavita as on 1* April, 2012

67/1/1

Liabilities Amg““t Assets A“‘;““t
Creditors 1,20,000 | Cash 70,000
Bills Payable 1,80,000 | Debtors 2,00,000
Genera! Reserve 1,20,000 { Less : Provision ___ 10,000 | 1,90,000
Capitals : Stock 2.20,000

Kushal 3,00,000 Furniture 1,20,000
Kumar 2,80,000 Building 3,00,000
Kavita 3.00.000 8,80,000 | Land 4.,00,000
13,00,000 13,00,000

10
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On the above date Kavita retired and the following was agreed : Simplifying Test Prep
(1)  Goodwill of the firm was valued at T 40,000. RS——
(1) Land was to be appreciated by 30% and building was to be depreciated by

< 1,00,000.

(i) Value of furniture was to be reduced by < 20,000.
(1v) Bad debts reserve is to be increased to ¥ 15,000.

(v)  10% of the amount payable to Kavita was paid in cash and the balance was
transferred to her Loan Account.

(vi) Capitals of Kushal and Kumar will be in proportion to their new profit sharing
ratio. The surplus/deficit, if any in their Capital Accounts will be adjusted
through Current Accounts.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of Kushal
and Kumar after Kavita’s retirement.

18. wH a1% otE fafies A € 100 w% F 40,000 Twar 3ot & 6% % 9% W it #e & fo
AT Tl e | aftr fr e & 2 ot - 8

HEATA TN AW R — T 90 W 3w
VIR TGN S<TH AT W~ 9 R

60,000 37T & few st W £T 1 10,000 el ¥ s B @ @ ey | T AT
P HAFIITF STUR 9T 39 7 aaeT Rear T | HEEA T AT W AR g
TR 1 AT 9w w3 e gt 2 e § e R mar | | T Al 6 o
4t | U FAHRE R S50 M%WWMW,M@WWW%W
& T 9 | IHE S T @O Y Forar Ty | &1 foh T 3t B 2 97wl afer oot wew
E-'-T:ﬁlﬁ&iﬁﬁ'ﬁﬂTWI

ST AR & forg Ty aé Ne ferfree %t qeerent avS Ve Hfeftedr it |
Foar

E.a"r.%rﬁé@#?1mmﬁ7s,ooommﬁﬁ?3ou%m%mwﬁﬁﬁﬁm
T TN AATW  — T 85 Wy sier (siterrr iy

T T <1 A 9T~ 9§ G

1,27,500 s = feiq 3nasT wre qu 1 27,500 siwi ¥ @ B w 9w far @ | vy
aﬂﬁﬁﬁmwweﬁﬁwaﬁWMWlaﬁwwmwmaﬁﬁaﬁ
WWWW@WWW@W&WWWIWWW%@
T ot aw@wﬁaﬁlmaﬁﬁ%%ﬂaﬁmﬁmmmmeﬁwmuﬁrw

A &l T U | STF 39 1 2707 ¢ Forar | &7 T TR 39N @t T 150 ufy afeT
‘Iﬂiﬁwﬁﬁﬁﬁmﬁmw I

IR oAl & fow wah, fefire o2 et o AevqS ot yiafedt s |-
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XYZ Ltd. invited applications for 40,000 equity shares of T 100 each at a discount of
6%. The amount was payable as follows :

On Application and Allotment — Z 90 per share
On First and Final call — the balance amount.

Application for 60,000 shares were received. Applications for 10,000 shares were
rejected and shares were allotted on pro-rata basis to remaining applicants. Excess
application money received on application and allotment was adjusted towards sums
due on first and final call. The calls were made. A shareholder, who applied for 50
shares, failed to pay the first and final call money. His shares were forfeited. All the
forfeited shares were re-issued at I 97 pex share fully paid up.

Pass necessary journal entries for the above transactions in the books of XYZ Ltd.
OR

AB Ltd. invited applications for issuing 75,000 equity shares of T 100 each at a
premium of ¥ 30 per share. The amount was payable as follows :

On Application and Allotment — Z 85 per share (including premium)
On First and Final call — the balance Amount

Applications for 1,27,500 shares were received. Applications for 27,500 shares were
rejected and shares were allotted on pro-rata basis to the remaining applicants. Excess
money received on application and allotment was adjusted towards sums due on first
and final call. The calls were made. A shareholder, who applied for 1,000 shares,
failed to pay the first and final call money. His shares were forfeited. All the forfeited
shares were reissued at T 150 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of AB Ltd.

" -9
PART -B

(Rt Rerarot 1 farvetaom)
(Financial Statements Analysis)

10, /e TETE [ERTT S W S FHET HH cio i

20.

21.

67/1/1

What is meant by ‘Cash Equivalents’ while preparing Cash Flow Statement ?

g W Tqator Y F R F Foo@ DT |

State the objective of preparing ‘Cash Flow Statement’.

Rerel ferereoit % fervetwor 1 et T T T I HiC |

State any one limitation of ‘ Analysis of Financial Statements’.
12
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22. T afufEE, 1956 # G-V qmr & SR URC R i e S —— ST ES e ndian Education Websit
Silesi 3
(i) 3ufea sy |
(i) G A=R
(iii) FHERY feet (o) % Fore o
(iv) 3= amier
(V) 3I9-3m@afy ot

Under which major sub-headings the following items will be placed in the Balance
Sheet of a company as per revised Schedule-VI, Part-I of the Companies Act, 1956 :
(1)  Accrued Incomes

(i) Loose Tools

(i) Provision for employees benefits
(1v)  Unpaid dividend

(v)  Short-term loans

(vi) Long-term loans.

CT-EI favor dar #ifs - , 4
. o 2012-13 | 2011-12
| P ?
T | I 20,00,000 | 15,00,000
Hq g 10,00,000 | 4,00,000
=g 21,00,000 | 15,00,000

AT HT T 50% o |

From the following ‘Statement of Profit & Loss’ for the year ended 31" March, 2013,
prepare a "Comparative Statement of Profit & Loss’ of Good Services Ltd.

Particulars Note No. 201: -1 201?1 12
Revenue from operations 20,00,000 | 15,00,000
Other Incomes 10,00,000 | 4,00,000

| Expenses 21,00,000 | 15,00,000

Rate of Income tax was 50%.

24. (3 ﬁq%ﬁaﬁaamﬁ‘m-mﬁwﬁmaﬁ&m: 242
¢

ST 30T 2,00,000
SHFIAT ST 1,00,000
1], e 50,000
3=t uicrafaat 3,60,000
TTe] TR 90,000
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(@) T iR a9 SR 2 : 1§ | RoT | oo i fo frefataa S8 |

I & (i) ghg B ; (i) FE @R A (i) T TR TE ST :

(1) =aiE st & 2 9,000 H1 0F 37 faor dinferd a1 | aRusa g3 W SuH
CusicicTa e kie

2) A 2 10 9RDF F 1,00,000 FHAT 379 1 A 567 i T8 AR b fershan
&t fopar |

(a) From the following information, compute ‘Debt-Equity Ratio” :
<
Long term Borrowings 2,00,000
[ong term Provisions 1,00,000
Current Liabilities 50,000
Non-current Assets 3,60,000
Current Assets 90,000
(b) The current ratio of X. Ltd is 2 : 1. State with reason which of the following

transaction would (i) increase ; (ii) decrease or (iii) not change the ratio :

(1)
(2)

met on maturity.

machinery purchased.

Included in the trade payables was a bills payable of ¥ 9,000 which was
Company issued 1,00,000 equity shares of T 10 each to the Vendors of

25.  oiar fafirte & 31-3-2013 @9 31-3-2012 % fegfa foagor & 2t 7€ guamad & MUK W) U6
TaTE fareRoT 4Ur iy
BarvoT e [ 31-3-2013 | 31-3-2012
T ¢ T
1. wwarua agant
(1) gt i
(31) 3T g 2,10,000 |  1,80,000
(q) Y T AR 1 1,32,000 24,000
(2) IS THA=
(37) ETEHE 0T 1,50,000 |  1,50,000
(3) =] FATe
(31) A ST 75,000 27,000
FA 567,000 | 3,81,000
II. wmfwat
(1) 3w Taat
(37) gt |ErEr
(i) T wwafear 294,000 2,52,000
(@) oTEd Haw 48,000 18,000
(2) =T WAt
(37) ey faranT (U 54,000 60,000
@) @i | 1,07,000 24,000
(@) A wir 40,000 17,500
@) UHs qdl g T4 24,000 9,500
A 567,000 | 3,81,000
67/1/1 14
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AT -1
feravor 2013 | 2012
4 ¢
T UE i
ST (F-g1f forror =67 v 1,32,000 | 24,000

Prepare a Cash Flow Statement on the

basis of the information given in the Balance

Sheets of Liva Ltd. as at 31-3-2013 and 31-3-2012 ;
Particulars I;u;f 31-3;2013 31-3;2012
I. Equity and Liabilities
(1) Shareholders Funds
(@) Share Capital 2,10,000 | 1,80,000
(b)  Reserves & Surplus 1,32,000 24,000
(2) Non-current Liabilities |
(a) Long term-borrowings 1,50,000 1,50,000
(3) Current Liabilities
(a) Trade Payables 75,000 27,000
Total 5,67,000 | 3,81,000
II. Assets

(1) Non-current Assets
(8) Fixed Assets

(i) Tangible Assets 2,94,000 2,52,000
(b) Non-current Investments 48,000 18,000
(2) Current Assets
(a) Current-Investments (marketable) 54,000 60,000
(b) Inventories 1,07,000 24,000
(¢) Trade Receivabies 40,000 17,500
(d) Cash and Cash-equivalents 24,000 9,500
Total 3,67,000 3,81,000
Notes to Accounts :
Note - 1
Particulars 2013 2012
< <
Reserves and Surplus
Surplus (balance in statement of 1,32,000 { 24,000
profit and loss)
67/1/1 15 [P.T.O.
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(Computerized Accounting)

aﬁﬁmmﬁﬁ%@m%mﬁ‘mﬁﬁrﬁwaﬁm%?

What is meant by ‘procedure’ as a component of Computerized Accounting System ?

TEF A, (SQL) T E ?
What is SQL ?

gRoi’ | w41 A ¢ 7
What is meant by ‘Table’ ?

SRR SRaTET U T HIE T o qY {1 HHIG FaTET |

Give one advantage and two limitations of Computerised Accounting System.'

TR (TEREAIae) T “FH PIgH I THERY |

Explain ‘Sequential’ and ‘Mnemonic’ codes.

T Yy o & ] = A S Ty |

Explain any four advantages of Data Base Management System.

Rresfetfiaa g @ frer Tt %t mor 3 fe TR T g A TR i

(37) H%fn?n%%%q,%éﬁqno,ooowIS%ﬁHﬁﬁmmﬁwm%ﬁﬂﬁ:
@) 29 & T 20,000 7 & T AT T 20% T THH FH 25% T |

@) OE 3 & o et A | TEE SR gl 0 37 HT T |

Calculate the formulae from the following information on Excel for computing the
amounts {or :

(a) Dearness Allowance, Basic pay upto ¥ 20,000 at 15% and above it at 20%.
(b) Tax payable, Basic pay upto Z 20,000 at 20% and 25% above that.

(¢c) Net Salary, adding Dearness Allowance and deducting Tax payable from Basic
Pay.
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